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The first Riflgf _iproject of the Package 1.
Programme was launched in -

(1) 7 districts of 9 states

(2) 7 districts of 7 states

(3) 12 districts of 7 states

(4) 7 districts of 5 states

Microsoft word is an example of - 2,
(1) Hardware
(2) DB.M.
(3) Application software
(4) System software

Which districts of Rajasthan are under the ‘Aw’ 3.
type of climate, according to Koeppen climate
classification?
(1) Udaipur - Sirohi - Jalore - Rajsamand
(2) Jaipur - Alwar - Dausa - Bharatpur
(3) Banswara - Dungarpur - Jhalawar -
Pratapgarh
(4) Kota - Bundi - Jhalawar - Sawai
Madhopur
The ‘Theory of Optimum Population’ was 4.
given by whom among the following?
(1) Edward West
(2) Edwin Cannan
(3) Margaret Sanger
(4) Thomas Sadler

Identify the wrong pair (river and its tributary) 5.
from the following -

(1) Banas - Menal

(2) Parvati - Moren

(3) Luni- Sagi

(4) Sabarmati - Wakal

Yo 9UM T UEd 9EdC Heige go
T T o —

(1) 7 K7 w9 asal §
(2) 7 Rt = 7 STl #
) 12 forer @ 7 AT |
@ 7 forer gon 5 wowi #
AIGPIEUE TS Th SEIET & —
(1) FRERR

(2) <idiEE.

() THBIE TR

(4) e Higeduy

DIV IR THI & AR IJoTAM &
BITH 1ol ‘Aw’ TBR B Slerdry # Gitaferd
87

1) SR — RS - ek —
RSTaA<

(2) TR — IAAC — N — RAGR

(3) IHAST — PR — SleEs —
EGIERTES

@ @l — g - "eEs - 69E
LEUe

Frafoiaa & | ‘st see Rigia’

fopee g1 3= IR or?

(1) TSIS T

(2) TS B

(3) AT TN

@ T deer

frfofed & @ 999 g9 (D @ sEe
e[S iE)) B Y=g —
1) 99 — 5

(2) UEd — 3R
(3) < — =l
@) FEE — 9Fd
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6. Match list - I (Political Geographer) with list - 6. & — 1 (Ao nermm) @ g - 11
II {country) and select the correct answer using (@%1) I GHIIT HITY Tl e BT AT PN
code - el I gﬁ-‘rq —

List - I List - 11 & -1 A ~II
A. N.J.Spykman  a. United states A T WEENE a. AR Oog
of America AT
B. RudolfKjellen b. Sweden B. JSIcP Puidd b, wWied
C. H.Mackinder  c¢. Britain C. Ud. HfdpoeR c. faea
D. O.H.K.Spate d. Australia D. &L Ta % We d sl
Code - e -

A B C D A B C D
@A .a c b d @D a c b d
@ c a d b 2 < a d b
3 a b c d B a b c d
@ c b d a @ < b d a

7. Which element of teaching model is related 7. Rrwr wfmm & @ o@ Reo @
with the interaction between teacher and Bt & sFafirar @ gafeg 27
learner? .

(1) Syntax 83 T T
(2) Social system 3) e

(3) Focus . 5
(4) Evaluation system @ s

8. Which one of the following statenent is not 8. ¥ T ﬁ\—rr (X)) dAfed & e o

correct with respect to Raster model? IR & ST TP B UEl TR 27
(1) Simple data structure 1) ¥ AHST AT
(2) Efficient for network analysis: 2) uRuer el fgey & e <er
(3) Simple for own programming, (3) wI B AT T W
(4) High spatial variability is efficiently @) <= ©ne Rexoriear o7 <&
represented gfafta

9.  What is the correct North to South locational 9. f=feRad wilor wiel &1 SR ¥ =BT @t
sequence of following minor plates? el aReIf®! B9 = 87
(A) Nazca (B) JuanDe Fuca (A) AT (B) SR ] BHT
(©) Cocos (D) Scotia (© Do (D) wIEME
Code - B —

(1) (A), B). (). (D) M (@A) ®)©, D)
2y B),A),D), 1O @) (B), (A), (D), (C)
3y (B), (), (A), D) 3) (B), (C), (A), (D)
@) (©), (B),(A), (D) @ (O, (B), (A), (D)

10. The air temperature at the tropopause is about 10, RYaq Y@ & SR &9 €91 § &9 6T
minus 80°C over the equator and about minus AIGHF oV H15T9 80° 4. 3R g9 & R
.................. over the poles. GUEU I IEEE] BT 21

(1) 45°C (1) 45°9.

@) 30°C @ 30°%

(3) 100°C (3) 100° 4.

@ 75°C @ 75°9.
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11.

12.

13.

14.

Which is not a type of reefs from the following?

(1) Fringing reefs
(2) Ridge reefs
(3) Barrier reefs
4) Atolls
The chief characteristics of nomadic herding
are -
(A) Seasonal pattern of movement by
nomads and their animals
(B} Transhumance
(C) Livestock ranching in permanent
ranches
(D) The animals are raised for sale
Code -

(1) (A)and (D)

@ (A, ®B),C)and®d) ~
(3 (A)and (B)

@ (A), (C) and (D)

In Kohlberg’s theory, at which level moral
development is internalized .and not based on
external standards?

(1) Pre - conventional level

(2) Conventional level

(3) Post - conventional level

(4) Interpersonal level

Match List-I with List-II and select the correct
answer from the code given below -

List-1 List-II
(Author) (Book/ Work)
A. Humboldt (i) Civilization and
Climate:
B. Ritter (ii) Exceptionalism

in Geography-
Re-examined
Kosmos
Die-Erdkunde

C. Hartshorne (iii)
D. Huntington  (iv)
Code -
A B C D
nH G G (ii)
@ ® Gv @) i)
@ G @ i @v)
@ @y v @ @

11.

12.

13.

14.

fr=falReg & 9 99 yae @k @1 @
YHR &l 87

(1) g v B

(2) e yard Ry

(3) IRED Yaia WRT

@) YAy e (Gl _
TR TEEARYT B W foeveny € —

(A) T T UgSH & IR BT
Ueq
B) EIEEE
(C) =Rl =REME! 4§ yHTe
(D) UIEH B f&FT T T UTel SR
]

a?:\_c’._.
D (AR D)
2) (A (B), (C) 3R (D)
3) WAR®B)
@ (A), (C) 3R (D)
BIEdeT & fagrg 4, o9 W W™ Afde
faprg 9@ AFel WoamRa W Blex
SR W SR Bl 27
1) @ — s wr
Q) W wR
(3) I — BT 'R
@) sfEe wR
FE—1 BT GE-IL I TARTT BTG ol IR
8T 7 g | WE SR BT T4 DY —
-1
(e EIp)
A, =i ()

B. Rex (ii)

C. BRI (i) I
D. BemeT  (iv)

A B C D
@ @) Gv) @ G
@ O @) @
@ Gi) O @ v

@ @) v @ @
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15.  Which of the following is not a correct match? 15, frifeaiRad & & fhaer 48 Yo =& 87
(1) PirPanjal Range - Banihal Pass O 9R Yo #oft - sfvEe ==t
(2) Zanskar Range ~ Fotu La Pass 2@ Siepe S - q”ﬁ§ o =<1
3 Eﬁ;iadhar - Shipki La Pass 3) eieaR S . R o
(4) Ladakh Range - ghardung La 4 & I - g & &t
ass
16. If the mean and mode of some data are 4 and 16, S Eay IATHS] BT AR IR ggoid U 4
10 respectively, its median will be - R 10 &, A1 SHHI AT B8R —
@ 7 o 7
2 14 2 14
3 6 3 6
@ 333 @ 333
17. The most flood prone state of India is - 17. ¥Rd &1 999 91 9997 I & —
(1) West Bengal 1) ulREE ¥
(2) Orissa 2) s
(3 Bihar @) feR
(4) Assam @) S
18. The low mounds developed in an extensive 18. U& faga sfear # e@arg Hffa v "\?Pﬂ"iﬁ
kettle are called as - P FEAE —
(1) Kame O @A
(2) Drumline (2 sEfem
(3) Hummocks 3) THD
(4) Esker ) TR
19. Which of the following wind landform have 19. f=ifaiRed § 9 &9 uav wAHil 1
been called as cockscomb by A. Holmes? U. 8% 7 pledeis Tm &I
(1) Inselberg 1) et
(2) Mushroom Rock () ©vIF Bre
(3) Zeugen A3) mmq
20. Which of the following is the state group 20. FFfRIRed # & =rga & N Bl — 3+,
growing three crops of rice - Aman, Aus and 3 3R ART ST are T 9E 87
Boro? 7 1) e Td EREwn
(1): Punjab and Haryana . @) aReE ST T T
(2) West Bengal and Punjab . .
. : () uflEEH e Ud ey
(3) West Bengal and Assam .
(4) Kerala and Tamil Nadu @ W T afierg
21, Who among the following is credited with 21. Fr=ifoiRaa # & v e & w9rdig Surm
‘establishing a humanistic approach in B R B &7 89 9T 57
Geography?
(1) Yi-Fu Tuan @ I - v ger
(2) BrianJ. L. Berry @) ¥ S T 99
3) Lucien Gallois (3 gfaeT deEE
(4 Philippe Pinchemel @) fofeu fUede
10- £ Page 5 of 32




22.

23.

25.

26.

27.

What is the direction of trade winds in the
southern hemisphere?
(1) South-East to North-West
(2) South-West to North-East
(3) North-West to South-East
(4) North-East to South-West
The area famous for its ‘Duar formations’ is -
(1) Kashmir Himalaya
(2) Himachal - Uttarakhand Himalaya
(3) Sikkim Himalaya
(4) Trans Himalaya
Which of the following is not a characteristics
of social developiment in adolescents?
(1) Increased peer influence
(2) Attraction towards opposite sex

(3) Extension of interest
(4) Social activities decline

Who among the following is credited for the
start of ‘Garden City Movement’?

(1) Howard, E.

(2) G@allion, A. B.

(3) Hudson, F. S.

(4) Claik, D.
Select the group related to E - resources of
teaching - learning material -

(I) Blog, Twitter , Youtube, Facebook

(2) Blog, Globe, Youtube, Facebook

(3) Globe, Projector, Youtube, Facebook

(4) Youtube, Facebook, Blog , Globe

In which of the following phases of the moon,
the Neap tide will occur?

(A) Gibbous (B) Cresceat
(C)  Firstquarter (D)  Third quarter
Code -

1) (A), (B),(C)and (D)
(2) (A),(C) and (D)

3 (C)and (D)

4 (A)and (B)

22.

23.

24.

25.

27.

el e § =aiRe uaet o e T
= 87

(1) <R 9 SR-—afl¥am

2 <Ro—alREm ¥ soR—gd

() SR—IRTE ¥ IR

@) ST—Ud ¥ IRl

‘AR R @ fow ufig e g —
1) SR e

(2) RBemEa - ssEcs Baed

3) Tufdpa fRaem

@ UR fEEre

fefafeg 4 9 o eReer §
e faern & fagmar 76 &7

(1) << g3 S g9

(2) fudg feiT @ iR snewdor

3 ey fawm

@) =i Brarse § B
frfeRad o I Y 'Syew TR sigie’ &
YeSI BT 21 far wimar 82

1) TEs, =

2 Hferia, ¢ 4

(3) TS, U, T

@) =, I

Rror afrm wh & € — gaEEt ¥
TR g BT 99 DY —

(1) T, Thiey, g — <gg, BagS
@) T, e, g — g, BAgE

@) Tl HSE, Y — <gd, $HYD
@ - YA, $EIP, =, A

THHT B F-faRad o | B graverst

# g SR AR?

(A) PRea/gser B) w=H

© TEIgAE (D) g Ty
253 —

D (A), B), (C)R (D)
) (A).(C)R (D)
@) (O&R (D)

@ (AR B)
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28.

29.

30.

31.

32.

Which of the following is a benefit of
co-operative learning?

(1) Decreased retention

(2) Greater social support

(3) Low achievement

(4) Low self-esteem

Which pairs are correctly matched in the
context of Von Thunen’s agricultural location

theory?

a. Zone I - Market gardening and milk
production

b. Zone II - Firewood and lumbering
production

c. Zone IV - Three field system
d Zone VI - only storing grain crops
wheat, rye etc.

Select the correct answer using the code given
below - ‘

(1) a,b,candd

2) a,candd

(3) aandb

(4) onlya
In which district of Rajasthan, the ‘National
Research Center for Arid Horticulture’ has
been established?

(1) Bikaner

(2) Sri Ganganagar

3) Ajmer

(4) Jodhpur
The author of the book ‘Geography in the
Twentieth Century’ is -

(1) Huntington

(2) Griffith Taylor

(3) A.J. Herbertson

(4) Carl O. Sauer

Durand line joins India with -
(1) Bhutan
(2) Myanmar
(3) China
(4) Afghanistan

28.

29.

30.

31.

32.

fFrefafag § 9§ o= wEer fFE #&1

T 27

(1) oRom # FH

(2) IRE aEiTE e

3) = syafer

@) = s

9 o % By wEeRe g @

ol 4 sF—ar /9 g9 w8 gAfe g /87

a. ﬁﬁl—tﬁr,'\qﬁﬁ,@

b. US M- o9 3R Sad adel

c. U IV- 9 @q wasen

d U VI- o grmE 59 g,
NERCIES

2 Ry T BT &7 SN BR GE SR

TP —

(1) a,b,cTemd

(2) a,c7ar d

3) aTwEATb

@ Dada

T g 9<x BR R sicidea
gwma‘»ﬁmﬁ?rﬁwﬁaﬁmw
?

1) dEPR

(2) SRR

(3) IR

@ SiEgR
SITH 39 % cdivedy S gwie @

oEEH T —
1) siea
) fufteer eeR
(3 T o g
(4) I 3N AER
T¥E XE RA & f5ue |1 Sredl 87
(1) e
(2) TR
(3) =N
@) STHITRR
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33. According to Weber, where should the industry ~ 33. qR B IR, arRf ﬁﬂ'cﬂ?ﬁ U BN TR
be setup to maximise profit, when the material Aferpad o © oY SERT 9 RIUeT wEf
index is one? B TRy?

(1) At the source of raw material (1) & 9d & 9id W)
(2) In the market (2) IR F

(3) Between the two (3) THl P T

(4) Anywhere away from the market @) FE W IER I EN

34. Which one of the following is not correct about 34, ¥R AFEH & T 7 Frafafaa 4 |
the Indian monsoon? P GE T8 87

(1) Indian monsoon is a planetary wind. (1) WRAR 9T 96 U8 gas 2]

(2) There is a complete reversal of winds (2) YRIE STTEEY T=wo 98 3
after every six months in Indian sub- TamRI BT % i Sec A g |
continent. () T 31 UOR, 99GT B AT B

(3) The platean of Tibet influences the TR wear ]
arrival of monsoon.

4) AT B EE AR JET

4) ‘Monex’ is related with the research @) _ i >
expedition of Indian monscon. ! A E

35. The ‘Sandur-Hospet’ area is famous for iron- 35. 'HgXx—8l@c’ &F die—e® @ & forg
ore mineral. It is located in which district of URIE 2| 98 HAcs & g el § Reg
Karnataka? 7

(1) Tumkur (2) Shimoga 1) TR 2 PBEmr

(3) Ballari (4) Dharwad 3) Ereibil @ oRarS

36. From given points related to mixed farming, 36. TP $N & Jafdw figel & i Ry 71y
select the correct answer from the code given T A TE SR Pl TIT PO —
below - A, R, i & weite et

A. Largely practised in highly developed I F P Sl B
parts of the world B. q;fq_qﬁﬂ' BT ATFN =

B. Farm size is moderate C. TN G ﬁi S siew wE

C. Fodder crops, wheat, barley, oats, rye e I—F‘ﬂ‘s‘ Ny NN ' VY
etc. are grown ‘ o

D. ENIEET e
D. Low capital investment on farm ki DR
. HT —
machinery o
Code - (1) SIABTAC

(1) OnlyBandC

@ (2 A,BTRNIC
A,Band C

(3) ®ga CTAID
(3 OnlyCandD -~
4) SWRIGT
(4) All given above @
10- £ Page 8 of 32
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37. Which is the correct sequence of the idea - area  37. ‘813 YHwUal RIGHT TR — 851 sj%rel ®
chain of “The Unified Field Theory”? WE GHH BT 87
(1) Political ide4 - Movement - Decision - 1) RS AR - TREE - ol
Political area — e &
(2) Political area - Movement - Decision - 2 NeEfe &5 — Ties — Mg —
Political idea i fER
(3) Decision - Political area - Movement - 3 ol - aoifos a3 — wfdes —
Political idea e R
(4) Political idez.:\ - Decision - Movement - @ e faaR -~ Fole — e
Political area — YRR &
38. The ‘Uniformitarianism’ concept was givenby 38. O ®cd ¥ ‘THFGUAER €eHeudl Y
James Hufton in the year .........ccc. . s H U DI
(1) 1865 (1) 1865
(2) 1765 (2) 1765
(3) 1785 3) 1785
4) 1885 4 1885
39, Which of the following is not a characteristic 39, fr=ifeiRea # © Sl womell 1 fagwar
of a system? &l 87
(1) Definite objectives Q) ¥ sgw
(2) Interrelationlship between elements (2) o<l H IradeE
(3) Posses boundary () IR A B &
(4) Static in natuire @ Rer El'ffﬁf
40. ‘Serrated Ridges’ is arelief made by ............. 40. TIER TR [RRTE FTP) oo
(1) running water T T vo wIemsid B
(2) underground water (1) d&ar Sd
@) wind @) AT S
3) Gaq
(4) glacier @ R
41. Which among the following group of countries ~ 41. ffafaa § & e <9t &1 w9g 2021 9
have been top producers of Bauxite in 2021? gieTSe Seared A Y UR RET?
(1) Russia, U.S!A., Greece, China 1) w9 9 . e, WE, 99
(2) Brazil, India, Jamaica, Indonesia (2) #oiE, 9Rd, SEe], SSMRET
(3) Australia, Guinea, China, Brazil A3 st R, 99, sl
(4) Jamaica, Russia, U.S.A., Guyana @) siPT, &9, 9. 1. ST, AT
42. In the year 1926, which society from the 42. Fr=fufRag § @ frw dwm &1 o of
following was established in University of 1926 ¥ qa feafammery & g3°
| Madras? (1) < RTT SAmfFwa e
| (1) The Indian Geographical Society (2) T EWibed AN e sfear
| (2) The Geographical Society of India (3) T ITHT ARG Vg
| (3) The Decca lGeographical Society @ EFe awfhed wNES i
(4) National Geographical Society of sfea
India
10- £ Page 9 of 32




43,

44.

45.

46.

Which of the following centre of iron.and steel ~ 43.
industry is known as ‘Rust Bowl of U.S.A.’?
(1) Lorain (2) Pittsburg

(3) Erie (4) Morrisville

Which of the following pairs are correct 44.
according to the 2011 census?
State Characteristics of
population
a. Maharashtra - Population density
over 1000
b. Himachal - Least urban
Pradesh population
c. TamilNadu - State with high sex
. ratio
d. Bihar - High percentage of
the urban population

Select the correct answer using the code given
below —

(I) bandc (2) aandc

(3 bandd 4 candd
Which of the following methods are used for 45.
locating the plane table station?

(a) Resection

(b) Radiation

{c) Traversing

(d) Intersection
Choose the correct answer using code given
below —

(I) bandd
(2) bandc
(3) aandc
(4) candd
“Geography is the Science that deals in the art  46.

of Map Making.” This statement was made
by -

(1) Anaximander

(2) Eratosthenes

(3) Strabo

(4) Ptolemy

rafaiag § 9 9. W emder & 5 aEr
SO B P YTET. B S BT BERT D
I § ST Wil 87

1) <R= (2) FReHst

@) & @ AR

¥ 2011 B SFETOFT & SER B § 9

P g aE 87

I ST R

a. WERS - & TOR W e
SEAE

b. fRame - oW TR ST

TR

c. Tferrg - 9w fel g aren
TR

d. fEr - TR ST @6l
Gz RIGN G

d R W G BT MR 9N WE 9N

Thg -

(1) bafxe () a3iRc

(3) baiRd 4 c3iRd

o Sgd wIM $ Refy &1 Puko o=

& ferg Fr=ifoiRaa & @ fore fafYr &1 ST

e < 27

() Refy FaRor (R

(b) fafdp=or fafer

(c) dspHoT fafey

(@) wfceseq fafy

Am Ry g BE B W R OGS ST

TP —

(1 baIRd

(2) baiRe

3 adRec

@ cafRd

" 98 foe 2, W weRE i @
Fell H BRI Pal B IE BAT off —

(1) IFTHHTSR BI
Q) EREY B
@) & @
4) <™ o1

10-
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47. According to Indira Gandhi Canal Department  47. 3= Tl 7R fOFT (oI ¥ROR) &
(Government of |Rajasthan), what is the IarR, fove w9l o §a dars e g
approximate length of total Iift canals (ST 2022 & IFHR)?

(according to July 2022)?
(1) 1020.24 km @ 102024 f&AL
(2) 1495.45km (2) 149545 fHA.
(3) 2090.00 km (3) 2090.00 f.A.
4 2515.90km 4 2515.90 f&4AL

48. Venice, known a5 “Queen of Adriatic” is 48. I, PR tfgafes & v & M =

located in - ST ST §, S/aierd & —
(1) Austria Q) siifReam &

(2) Greece 2 TaH

(3) North - East|Italy (3) SR — g scen 4
@) Sicily @ fuiyeh

49. According to Human Development Index 49. ¥FMd o™ T@Hie 2020 & IR,
2020, which of the following country is not fr=falRad § 9§ o= 297 39 g9 S o
included in the topjten countries? wftafera <& 27

(1) Iceland 1 IS

(2) Denmark () T@

(3) Sweden k) q;‘ﬁ—g;f

(4) Finland @) s

50. Positive Reinforcement - 50. WORRAS YT —

a. Increases desirable behaviour. a. TIBY FGER 91T B |

b.  Decreases desirable behaviour. b, BT WIER BH BT 2 |
c. Decreases undesirable behaviour. c. IJAIBAR AdEN HH HIdl £
choose correct option from the following - & fawen g —

(1) (a) only 1) I (2) T B

(2) (b)only (2) @a (b) W8 ©

(3 (c)only (3) @gd (c) &

(4 Both (b)and (c) @ (b) ¥ (c) &F! |el €

51. Match ListI (frrigation Drinking Water 51. ai—1 (Rfad—vasia aRediomn) o1 -1
Project) with List-II (River) and select the @) & gafora BIRTT T T BT TN N
correct answer using the code given below - T IR Y — e

A hdmLift o GambhrR R R

. ira Li . Gambhir River

Project A m W a W ﬁ

B. Navnera b. Banas River RS
Barrage B. ST SR b. ¥ &)

C. Ajandam c. Chambal River C. 31T 9 c. T T

D. Isardadam d. Kalisindh D. SwReT 9 d. @iet Rig T8

River Fie —

Code - A B C D
A B C D

1 c d b a @D c d b a

) a b c d @ a b c d

3 c d a b 3 c d a b

@ a c d b 4 a c d b
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52.

What was the correct sequence of ice ages that  52.
comes to Noith America during the Pleistocene

RS 7 @ R STy ST § &g
TR &g FT Wa HH @ of?

period? (1) HE — SAAET — DT —
(1) Kansan - llinoian - Nebraskan - repitegs
Wisconsin (2) TARFT — FEE — FoelHET —
(2) Nebraskan - Kansan - Illinoian - g
Wisconsin o (3) i — FaF — SeaFgd —
(3) Wisconsin - Kansan - Illinoian - AT
Nebraskan o ‘ . @) T — SeolFisT — Rrepieas —~
(4) Kansan - Illinoian - Wisconsin -
D
Nebraskan
53. Inthe Koeppen’s classification of climates, the 53. U & STarg TR0 A “w’ ¥6g UGRid
‘w’ word represents - BT -
(I) dry winter season (1) I=h ofig £ !
(2) dry summer season Q) TF fo =g
(3) autumn season () UGS g
(4) monsocon climate @) H’FI'\“E[ SR
54. Ina given map 4 sq. cm represents 16 sq. km, 54. UH AMREH WR 4 T AL, 16 T BT S@r
the R.F. will be - 8, o AFRA $1 4/ (RE.) 8 ~
(1) 1:4,00,000 (1) 1:4,00,000
(2) 1:2,00,000 (2) 1:2,00,000
(3) 1:1,00,000 (3) 1:1,00,000
4 1:8,00,000 @ 1:8,00,000
55. As per United Nation’s “World Population 55. §gaxl ey o “fAvg Si=iwr. S
Prospect 20227, the world population is 2022" aIgEr, fawg @ STEEn 8 oRw
expected to reach 8 billion in - kN B @ .i 8-
0 ) ® 2026
202 .
(2) 20254
(2). 2025 5
3 2022
(3) 2022 ®) _
@ 2024 @ 2024%
56. An article, ‘An Essay on the Principle of 56. ‘ST RIgid TR U6 MawI’ S9&6 o/ &1
Population’ was published in 1803 by - EESEEH 3803 ? ............. BIRT fpam wrar o |
(1) Thomas Robert Malthus @D '
(2) Thomas Daniel Malthus @) ot S o
(3) William Walter Malthus @) fafer areeR A
4) William Godwin Malthus (@) fafermm wMsfam wreera
10- £ Page 12 of 32




58.

59.

60.

61.

62.

Which of the following pairs are correctly 57.
matched?

Cement Unit Place

a. A.C.C.Limited - Kharia

b. AmbujaCement - Rabriyawas

c. J. K.Cement - Nimbahera

d ShriRam Cement - Beawar
Code -

(1) a,candd

(2) bandc

(3) aandc

(4) b,candd

Which one of the following sequence of cities  58.
are correct, when travelling across the Trans -
Canadian Railways from Eastern side to the
Western side?
(1) Quebec - Oftawa - Vancouver
Winnipeg
(2) Ottawa -
Vancouver
(3) Ottawa - Vancouver - Winnipeg
Quebec
(4) Quebec -
Vancouver
The ‘Death Valley’ located in .................... 59.
is an example of Graben.
(1) Southern Arizona
(2) Southern Colorado
(3) Southern California

(4) Southern Texas

Hero worship is a feature of which stage? 60.

(1) Infancy

(2} Adolescence

(3) Early childhood

(4) Adulthood
Identify the canal passing through the Gatun  61.
Lake -

(1) The Suez Canal

(2) The Kiel Canal

(3) The Gota Canal

(4) The Panama Canal
“No vestige of a beginning, no prospect of an  62.
end.” Who has given this concept from the
following?

(1) W.M. Davis,

(2) James Hutton

(3) Alexander Von Humboldt

(4) Bernhardus Varenius

Quebec - Winnipeg

Ottawa -

Winnipeg

"

. gl § ) s gAfera 27
RilkiAEAF) fa2lil

a. uaH fafics - @R

b.  argen HAT —  vEfsTEN

c. O B W< — frarst

d. HNW W< —  ®ER

R_

(I) a,c3aTd

(2) bwWIc

(3) at@Ic

@ b,cTRNd

TR—$RETT Yot & gar 9RT | uiREd
Y B WP I B U TR BT
Freifera ¥ & e argpd W 7

1 crq\qu — 3™ — CICbCN —
(2) ST — TS — T — daw
. -

(3 shemr — Jogpr — RfWT - =
@) TEF — NeEr— AT — R

@ =R ol

(2) <=ferh PR

3) el SfemitE

@) =RrY <™

TS Yol 5 el o faRiven 27
(1),  reTaraeRT

meT Hid § Sy e il AR @

TG+ DITOTG —

(1) wF TN

() DI TR

-@)~- TET TR

4) TR R

'Haﬁwzﬁraﬁs‘ﬁﬁg% S VT B B

B AR B ﬁwﬁ%ﬁﬁww

forem &Y o7 ~

(1) s=g A S

(2) o= geA /
e

3 diqiﬂh:j“é(ﬂ'l:fs*ﬁlloc

@) wEreY IR
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63. Unified Field Theory was propounded by - 63.
fepan?
(1) Gottmann O T /
(2) S.B.Jones (2) T4 9§ ‘
(3) Hartshorne () TN
(4 None of the above @ SR H 9 D T
64. The world famous Bikini Atoll is a part of 64. favg uRig RS W o BT
.................... AT €
(1) Alentian Islands @ lj A
(2) Marshall Islands (2) TSt G
(3) New Caledonia Islands @ = Bferetfrar g &
(4) Vanuatu Islands (4) AT ETRIE
65. Statement - 65. AT —
(a) This soil has a high percentage of (@) =9 9 ¥ 9o &7 ufoea it ger
clay. * 2
(b) This soil is found in the district of (b) TE ST AHATS, FIFATST, BT, g1
Jhalawar, Banswara, Kota, Bundi etc. anfy Rreli & frewd &1
On the basis of above statements, select the SR PR B AR TR T BT YFR
type of soil - TATET — ‘
(D) EIIIISO.IS 1) TEe
(2) Inceptisols 2) TS
(3) Alfisols 3) eﬂmw
(4) Vertisols @) e
66. “Human Geography is the synthetic study of 66. "HIMg [ AMd TSI 3R SR & 4
relationship between human societies and el BT GToildd ga 2| A=ferfaa &
earth’s surface.” Who has given this definition q A9 e B g8 g feem < 87
of Human Geography from the following? .
(1) Ellen C. Semple 1) T . U
(2) Paul Vidal de la Blache (2) dia s | ar =
(3) Friedrich Ratzel (3 wsRe Yeud
(4) Alfred Hettner 4) ITTHE B
67. Which of the following river groups does not 67. f=faRaa =Y '\”l"l%ﬁ' 49 foa TE B
have its origin in Rajasthan? SEIH Rl ISTRIE H T 57
(1) Sabarmati - West Banas - Jawai -Khari (1) YEE — Y. 919 — SaE — 9Ny
(2) Som - Mansi - Wakal - Jakham
(3) Gambhiri - Parvati - Kalisindh - @ ¥ A A — e
Parwan (3 TRIR — U — el Rig — wad
(4) Banas - Berach - Khari - @) T — 59 — @H — TEERT
Chandrabhaga )
10- £ Page 14 of 32
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68. As vper classification of climate by 68. ofFde @& U@y FET B ATER,
Thornthwaite, which of the following is not frfeRaa # | Piar gafera T8l 52
matched correctly? ST, PR HHART

Climate type Abbreviation (1) S97 Bfea=ig amg - BAT
ﬁ Tropical humid - BAT STelany, & A §
(1) climate inadequate Y g9t
rainfall in all seasons Firgei '
(2) Tropical sub-humid - CA'g @ fnﬂg - W?rq CAg
climate with less S N ?I'TFI' o
rainfall in all seasons
(3) Tropical humid - BA ) s qsléa{é'q S - BAW
pical humi W .
climate with winter oiedry, #
rainfall il
(4) Tropical semi-arid - DA @) S HReariy - DAd
climate with deficit FE—YH ey,
rainfall in all seasons o 1 A e aul
69. Who among the following is mot associated 69. THRINGT H | B9 T Awelor”’ & Ao
with the development of “System Analysis”? q Hag T8 87
(1) ChorleyR.J. (1) et AR, .
(2) JamesP. (2) <= .
(3) Harvey D. (3) =4Sl
(4) Freeman N. M. @) T T T

70. Which of the following ocean currents is warm 70, Fr=faiRad # ¥ iRl 9BFRA ORI T

in nature? Ui Bl &7
(1) Oyashio current (1) ey R
(2) Agulhas current (2) ST[EEN NI
(3 Benguela current (3) ST gR
(49) Humboldt current @) =TT URT

71. Insurance is related to which of the following 71. Fr=ifeiRaa # | /1 &1 e {59 Jar &=

service sector? ¥ 87
(1) Primary O e
(2) Secondary (2) feds
(3) Tertiary (3) TETs
4 Quaternary @) wgs

72. 'Who is the author of the book ‘Mental Map’?  72. ‘A<al A7 TKI® © oEd & —

(1) Lowenthal David and Orr L. B. (1) <oeere Sfds ger &k Ta. o
(2) Wolpert J. and Nick M. (2) dreme o, g1 A% T,

(3) Peter Gould and Rodney White (3) UreX TiSes Tl Vel €5
(4) CoxK.R. @) Bl & IR

73. Which one of the following is a 73. FrfoRad ¥ | SHE & J—Jeadlied

geosynchronous satellite? TUUE &7
(1) IRS. (1) ISR,
(2) INSAT (2) e
(3) LANDSAT 3 e
4) SPOTHR.V. @ wife wand
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74. Standard Deviation is calculated from - 74. f=foRag # 9 fFad w96 fogaa @1
(1) Range only IO B RN BY
(2) Arithmetic mean only (1) wad fTRR/ W§
. 2) NHIY HiEY
3) Median onl @)
() Median only (3) Tgd HEAH @
(4) Mode only @) @ W J
75. Match List-I (soil) with List-Tl (Found in area) 75. {A-1 (a1 UoR) A1 FE-1 (mﬁﬁ“ S
and select the correct answer using the code B gaferd Hifeg Ten T Ry g, @5 9
given below - el I gﬁ'q —_
List-I List-II -1 -1
(Soil) (Area) (=T ITR) (st <)
A. Laterite soil a. Chhota A. a1 a.  BE TR
Nagpur B. i b. TERTS
B. Saline soil b. Maharashtra C' NN nga c- R
C. Black soil c. Rajmahal ' -
Hills D ; d g
D. Red-alluvial soil  d. Kutch region S qd - PE
EFC: —
Code - o
A B C D A B C D
| @ 4d c b a 1) d c b a
‘ 2 d ¢ a b @ d ¢ a b
| 3 ¢ d b a @) c d b a
| @ c d a b @ c d a b
| 76. Who is credited for the preparation of a world 76, Ugel R GHaW Y& & Wy e wEfs
map with isotherm for the first time? TR &%= 3T 99 59 far oy 87
(1) Blache (1) =1
(2) Humboidt (2) BNl
(3) Huntington (3) T
(4) Ratzel (d) Yoo
77. Consider the following statements and select 77. f=foiRea sl ww @R FHivT T@r o
the correct answer using the code - BT WA FR GE SR AT —
a.  The Southern Aravalli region includes a. <Rl Rl Ry ¥ RRE TEAR
the districts of Sirohi, Udaipur and L e e L %;I
Rajsamand. ST A
b. Mount Abu is about 1700 metres above b. G\T,'EL qgﬁ SRR ¥ 1700
sea level. Sl & | .
¢.  The main peaks of Mount Abu are Ser, c. ﬁﬂiqﬂﬁ fﬁ R EC] AT TR, AT,
Achalgarh, Rishikesh and Guru DY Td THRRER B |
Shikhar. THE —
Code -
(1) abandc g) goe
(2) onlyec ) c
(3) onlya () @9 a
(4) aandc (4) ademc
78. Which of the following is NOT an Azimuthal 78. fifeilRea § & #wr o g8 R uew
Projection? I
(1) Cylindrical Equal Area Projection (1) YRR TUEH UeY
(2) Polar Zenithal Equal Area Projection (2) ygdrm Ty TS U
(3) Polar Zenithal Equidistant Projection (3 gdY TFET TG 98T
(4) Mercator’s Projection (d) ¥FHeR gEm
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79. Which of the following country is asscciated
A with ‘Shamal’ local wind?
(1) Brazil
(2) Irag
(3) Mexico
\54) New Zealand

80. Who was the first to state, that the climate is the
mam determinant of history, culture, way of

llfe and occupation?
(1) F. Ratzel
(2) A.V. Humboldt
(3 E. Huntington
. @ E.Semple
81. Which one of the following is an Aeolian
sedimentary rock?
(1) Loess
(2) Shale
(3) Sandstone
(4) Moraine
82. During the communication process, the
message is converted to a symbolic form is
called -
(1) Decoding
(2) Encoding
(3) Channel
(4) Feedback
83. Which of the following is not correctly
matched?
(1) Kalisindh River - Jhalawar and Baran

(2) Brahmani River - Tonk and Bhilwara

(3) Mej River - Bhilwara and Bundi

(4) Kothari River - Udaipur and Bhilwara
84. Which of the following is an incorrect pair?

(1) Observational learning - Bandura

(2) Theory of meaningful verbal learning -
Thorndike
(3) Theory of operant conditioning -
Skinner
(4) Theory of classical conditioning -
Pavlov
85. In which of the following scale, distance could
be measured more precisely assuming same
RF.?
(1) Plain Scale
(2) Time Scale
(3) Revolution Scale
(4) Diagonal Scale

79.

80.

81.

82.

83.

34.

85.

frefaeg & 9§ ST Q9 wHe <RI
g ¥ Hefdd 87

1) mﬁﬁa

(2) s?rcg

(3) AfFgP

@) s

TdveH fHew a8 wwede fear enm &
SEELE @18 7

(1) TB. o

(2) TH. 8=

(3) s Efen

@ % Jua

frfeafag ¥ 9 SR I I3 a9l
TEF 87

Q) s

(2) o=

(3) TGP URR

4 "R

wu A uRafda & B & —

O ST

(2) THIET

3) =9

4 vfgle
frafafaa & 9 s gafea w8 27

(1) el R ol — SAeEs U9 9Ri
(2) amETl G — S Td iErsT
(3) A A — WergreT vF g4

@ BN T — ISAYR TG Aearst
FrafaRaa 5 9§ w9 g g 27

(1) FeET AR — oGy

(2) =iyl mitss aiftrm @1 Rig=T -

SISEIRE

(3) dfpa aFeem &1 g — ReeR
@) IS SEEE B RIgT — drderd

e foeue S w fF=fefeag | 9 fea
A IR G DI ARF IR ¥ fR@mrn o
HHaT 87

(1) SRR {Y=)

(2) <FI AT

(3) @ "GN

4) fawol qoh
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86.

87.

88.

89.

Which one of the following pairs is not 86.
correctly matched?
Coastal region Type of climate
of India (Koeppen’s)
(1) Malabar Coast - Amw
(2) Coromandel - As
Coast
(3) Konkan Coast - BShw
(4) Utkal Coast - Aw
TISCO was setup in - 87.
(1) 1906
(2) 1907
(3) 1908
4y 1909
Match List-I (Philosophical approach) with  88.
List-II (Scholar) and select the correct answer
using the code given below -
List-I List-IT
A. Behaviouralism a. R.Peet
B. Quantitative b. O.HXK. Spate
Revolution
C. Radicalism c. William Kirk
D. Probabilism d. I Burton
Code -
A B C D
1) d c b a
2 c d a b
3) c d b a
4 d b a c
As per the Elastic Rebound Theory, tectonic 89,
earthquakes are closely associated with which
of the following activities?
(A)  Faulting (B) Folding
(C¥  Volcanic
Select the correct answer uising code given
below -

Code -
(1) Only (A) is correct
(2) (A), (B) and (C) are correct
(3) (B) and (C) are correct

|

ffafaa I 9 | Siar & 98] gAted
el 8?7
ARG TE SECICEEIT
& (@)
(1) ¥9ER g - Amw
(2) PREYSE dc - As
(@) DiEw ac - BShw/
@) SUBd Te - Aw /'
feebr @1 T fow ad § ggY
(1) 1906 /
(2) 1907 ,
(3) 1908 ‘
(4) 1909
-1 (SRiE SurT) B YE-I ({[dE)
¥ GAfTT BIRTY T T BT ST BN Ta
R ghY —
LAl -
A. TIERATE a. R U
B. #WEA® wifst b, 3L wE 6. e
C. fae c. fafer {5
D. ¥O™Edig d. g 949
A B C D
D d c b a
2) c d a b
3 c d b a
@ d b a c
Ty ufigy Rigra @ EERIRE
YHA BT Tferraa A 9 e wfafaftet
frepeadl vy 27
(A) ¥IE (B) deH
(© I
A {3 TR T BT START BN WEl SR BT
T HINTT —

@' —_

(1) g (A) ST 8

(2) (A), (B)TRI (C) Wl &
(3) (B)TN (C) WS &

(4) Only (B) is correct @) e (B) 91 &
+90.  “The table of nature is laid for a limited number  90. W&y B W Bl <1 WfRT M & forg
~ of guests and those who come uninvited must 2 o O FFEer & o 9l @l Ay
" starve.” This statement was given by ........ U@ TRAT TS I BT e grr faam
(1) John Locke “ZT) arlo
(2) James Stuart ST eld
(3) Malthus g; j;f"ﬂé
. N ((4) Thomas Mun @) off ol
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91. Match List-I (Natural Disaster) with List-Il  91. '\'ffl’[—I (repicrer mmgaT) & gE-1 @
(Area) and select the correct answer using the B TAT BHe BT ERfFT ?5‘\’
code given below - '\'ﬁ’r IR difeg —
List-I List-II - -
A. Flood a. Foothill region of A —\:1;2 ! a m? ﬁrlgqm a5
' Himalaya i .
\B. Draught b. Uttar Pradesh and B. & b. S wew W faEw
\ plains of Bihar LEi]
C. Cyclone c. Jharkhand  and C. IHAd c. IRGTS U T
_ North Orissa SR
D: Earthquake  d. ggiiacllle Eastern D. ¥FW 4 e ‘{Eﬁ TR
Code - &e —
A B C D A B C D
@D b c d a @ b c d a
@ b d a c 2) b d a c
3 4 c b a @ d c b a
@ a b a c @ d b a c
92. Who proposed the Glacial Control Theory 92. Yaral fafvmi & defter fRwwg f=er Rigia
related to coral reefs? e faar ar?
(1) Daly @) e
(2) Murray ) ﬂ% }
(3) Agassiz @) T
(4) Gardiner @ TSR
93. Match List-I (Regional Blocs) with Listll 93, YHi-1 (kR a9g) &1 W1 (05
(Member Nation) and select the correct answer M) & ARI Guferd BT aem Aig f{y g
using code given below - HT BT UART Y Fa SR g —
List-I List-IT —\qc\—zﬁ_l -\q:cﬂ_n
A CLS. a Azerbaijan A FeET. a SIS
B OPEC b  Sri Lanka B a® b ST
C SAFTA ¢ Malaysia C |9 ¢ WoRET
D ASEAN d Nigeria Q _ a1
Code - D d
a—z\e —_
A B C D A B C D
@ d a b e M d a b ¢
@ a d b < @ a d b ¢
@ d b ¢ a2 @ d b ¢ a
@ a b c d 4 a b ¢ d
94. The apex body for agroforestry in India - 94. 9Ra # S aifver & forg WY e & —
(1) Ministry of Rural Development (1) I era gareE
(2) Ministry of Environment and Forest (2) YATERYT TAT T HATeld
(3) Ministry of Agriculture 3 TN A=
(4) Ministry of New and Renewable @ &9 iR T sal H3 e
Energy
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95.

96.

97.

98.

99.

100. Which of the following is a feature of C. A. L. 7  100.

The Hadley cell is formed between which two 95,
air pressure belts?
(1) Equatorial low pressure belt and sub-
tropical high pressure'belt
(2) Sub-tropical high pressure belt and
sub-polar low pressure belt
(3) Sub-polar low pressure belt and polar

high pressure belt
(4) Sub-tropical high pressure belt and
polar high pressure belt

Who is the author of the book ‘The Unstable 96.
Earth’ from the following?

(1) J.A. Steers

(2) Sir George Airy

(3) W.M. Davis

4 Alfred Wegener

“Bigger the column, lesser the density, smaller 97.
the column, greater the density.” Who gave this
concept from the following?

(1) Bowie

(2) Hayford

(3) Pratt

@ Airy

What was the total number of cities in 98.
Rajasthan in the year 2011 with a population of

over one lakh?

1 20

(2) 25

3 30

4 35
Which of the following ancient city was the 99.
capital of Mesopotamia and had a Hanging
garden?

(1) Athens

(2) Lagash

(3) Memphis

(4) Babylon

(1) Learner controlled instruction

(2) Delayed feedback

(3) Uniformity in methods of instruction
(4) Teacher pacing

3 w—gﬁaﬁwwﬁ‘aﬁgﬁm

@ Wﬁﬂ@?ﬂﬂ‘@f@gﬁuﬁ

frafeieg # 9§ ‘< scTa e g B
D P B

@O U e

(2 R we

() s=g . s

@) IIFHS TR

e |* Frefalaa § ¥ I8 Yoea e
g

O 9

(2) BB

3 e

@ T

q§ 2011 & WorRIE # U6 oG 9 IR
STIRRET Tl SIRT ) e off —

1 20

2 25

3) 30

@ 35

frafaeg & 9§ o9 UEE IR
qT orr?

@) W=

(2) T

(3) wfeww

@ b

Frafeiag & 4 @9 B T e, @1 %
eI 87

(1) <frEEal T aegeE

) feRa gyl

() FISIE & DI H [HHUdl

@) e i
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104. Regarding

-----------------------

(1) folds
(2) faults
(3) cracking

. (@ crustal fracture.
102. ‘In which of the following types of industry,

white collar workers make up a large share of
total workforce?

(1). Pharmaceutical Industry

(2) Food Processmg Industry

3 Iron 4nd Steel Industry

(4) Cotton Textile Industry

103. Which of the following R.F. and statement

scale is correctly matched?

R.F. -~ Statement Scale
(1) 1:1,02,960 = 1Mile, 6 Furlong,
- 86 yard
T:1;04,760° = 1 Mile, 5 Furlong, 50
yard
(3) 1:98,372 = 1 Mile, 6 Furlong,
30 yard

4 1:1,36,520

1 Mile, 7 Furlong,
180 yard, 3 Feet
importance  of  emotional
intelligence following statements are given.
Select which one is true?
(1) Emotional intelligence is not powerful
than IQ.
(2) Person having high emotional
intelligence likely to succeed in
everything they undertake in their life.

(3) We may not be productive and happy
after knowing .our emotional
intelligence.

(@) Success in academics camnot be
predicted by emotional intelligence

* measurement.
105. Which of the following is an example of 105.

information processing family?
(1) Role playing model
(2) Concept attainment model
(3) Conceptual system model
(4) Social simulation model

\ 101: {“Symmetrical’ and “‘Asymmetrical’ are typesof 101.

102.

103.

104.

YR |

(1) T

(2) Uy,

(3) =EHA

) Tflﬁ?frﬁ’lﬂ

RrefeRad ¥ N frg YoR & S § wa
wiaRal § ¥ wOT PR ARG B
fewar walfte grar 87

(1) wEReHa ST

(2) ETEL YRGBT ST

(3) ST G ST e

@ i ge3 SE

ffoReg § 9 o9 91 feue ™= or

HU AU BT G HEl GHlera 87

ey B B AT

M 1:1,02,960 = 14,6 BT 86
RIES)

(2 1:1,04760 = 1,5 BalT 50
RS]

(3) 1:987372 = 194, 6 BellT 30
LI

@) 1:136,520 = 19ic,7 Beal
180 T, 3 BT

HAs gfewn B ueE @ oS 3§
frafofRaa oo R T ¥ 98 Fem

PIFNT 87 T BT —
(D) HeEE A EFy, (1Q) |
Aferp wrRpemel e B

(2) <= e giewar aer @l
Ao Wi § S gu A o g
IGH e B & FaEET B &

() T AT WIS g B TEA B
9T SeUTED Td Eer T8 8 | B |

@), Hmerd gig woe o Refael §
Aher P AfeeErEll w8 @ o
il B |

FrafaRaa & @ S gaeT i o F&71

GERRT 87

(1) e FeE ufmm

(2) YIY SN UREE

(3) Y=g Ul Uk

@) S fRgERE T

Ky
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106. The concept of Zone of Proximal Development 106, F#Huw1 3@ &5 (ZPD) B! IaeRoll ﬁiﬂa\}/

(ZPDY was glven by whom? BRI <1 73417

@) P1aget__ N 1) e /
2 A,]!éanduro ) (2) s /‘

3) _,."vs'féots;ky ‘ @) TS

4) Skmner 4) Re )

107. Study the facts related to literacy in Rajasthan  107.

from the ﬁnal ﬁgures of the 2011 census and
seléect the ‘co‘rrect answer using code -

a’ The: literacy rate of the state has
increased "by 5.69 percent in last 10
"yéar:s;

b.  This increase for men are 8.25 and 3.50

. ;pér’c%ﬁt for women.

c. Jalofe district had the lowest, while
Jhurijhinu district had the highest
'litera(;y' rate, #

(o Total hteracy rate; of the state was

S recorded at 66.1 percent.

Co,d.@-

(1) ~dandd

2) a,candd

A3) c and-d

: (4) only d.

108. The .Wate,r:{_‘ (Prevention and Control of 108.

Pollution). Act-was énacted in -
a) 1977
(2) 1982
@3) 1974 <
(4). 2006

109. Hayden has classified the races on the basis of 109,

hair in h1s BOOK +vueveieeeane.
1) Anthropology
(2) Races of Man
(3) The Races in Europe
@ rThe Racml History of Man

LTI

I§ 2011 H SEOFAT @ Afwm griwel &

JORA D FERAT o FHER qedl @1

AT B T FH STY e ¥ gAY —

a. NI9g @) TR &< 7 T &9 991 A
5.69 ufte ¥ gfg g8 T

b. Toul # 7T gie 8.25 o AfEensl A
3.50 wfeera &1

c. wER R § ~geE, SER IR
ot & aifteoy weRar sffed @
TS |

d IS9 B FI ERRGT 66.1 ufoww
aifdser Pt TS |

a;ZC’_

(1) awmd

(2) a,caurd

(3 cward

@) @aad

m(@mﬁamwﬁww)a@ﬁm

SR 3T =T —
{O 1977
(2) 1982
3 1974
@) 2006
TS 7 U GEID orerrrerrermorseser # Ei By

T AR AFSGY Yot Jeiieeer fsar 81
(1) vl

() R &ife A

(@) T 9 P

@ T Wiga T e ¥
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$110. Statement - 110. B —
\ (a) The rainfall in this region ranges from (2 39 &% § 500 9 700 AW, g auf
Y 500 to 700 mm. ol &1
(b) The soil is lime - rich loamy and (b) T T g e e R B
alluvial. (c) dIoRI, 3RET, R, A5, a1 G4 =
© Ba_]i;, arhzfr, jowar, wheat and mustard B B
are the main_crops. :
(d) Ravine land is aII;o found in this region @ w9 &7 7 dws Hﬂ Al T SR 2
'Qn tpe basis of. the abov? statements select the 3 Wﬁﬂaﬁﬁlﬁm m“ __g e
district group included in the agro - climatic :
region - .
(%) * Ajmer - Jaipur - Dausa - Tonk (D) ISR — SR — 99 —
(2) Alwar - Bharatpur - Karauli - Sawai (2) AR — AR — A — FaE
Madhopur : i )
(3) Kota - Bundi - Jhalawar - Baran (3) Pl — g4 — FeEE — 9Ri
(4) Dungarpur - Pratapgarh - Chittorgarh @ FTRE — YOG — friteTe —
- Banswara EIGEIS]
111. Nag Pahad is located in - 111, 9T USTS Hel saier 87
(1) Ajmer (1) 3R
(2) Udaipur 2) SR
(3) Pali Eg,; el
(4) Jalore @) TR
112. Which one of the following sequences 112. AefaReg & I o & Wﬁ_ﬁ Wl § 9
correctly represents the percentage of salts ¢ FGUI & Ted B9 ¥ gied &7 95y &
found in sea water in decreasing order? ¥ <3iar 27
(1) Sodium chloride, magnesium chloride, 1) T wiREs, TR FeREs,
magnesium sulphate, calcium sulphate TR acbe, dievT Gode
(2) Sodium chloride, magnesium sulphate, () T FoREe, FHREE gwbe,
calcium sulphate, magnesium chloride Shea wode, TR TeRES
(3) Sodium chloride, calcium sulphate, @) |fem TeREs, SfwwE Gohe
magnesium  chloride, magnesium PPN ; ' e '
sulphate @ AR : ' . Wf
4 Magnes.ium chloride, sodium. chloride, AT SN ’ﬁﬁ e ’
magnesium sulphate, calcium sulphate '
113. Which one of the following is not matched 113. frfeifaa # & wi=war gafer - &7
correctly? w G2
Topography Location (1) 2fornfbes wor — ST scEdes
(1) Telegraphic - North Atlantic AENNR
Plateau Ocean (2) 9w Fed  —  wlRON—gdl
(2) WalvisRidge - South-Eastern Feafed
Atlantic Ocean y R
(3) DolphinRise - Southern @ sifew saR — <Rl seaes
Atlantic Ocean @) fafre o — Bﬁﬁg— '{cﬁ
4) Wyvillc Thomson - North-Eastern e B
Ridge Atlantic Ocean HERTTR
10- £ Page 23 0f 32
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What is the ‘cause of the adiabatic change of

114. 114. agvse § qEd & oee Rad 1 Ry
temperature in'the atmosphere" PRT B?

(1) Convection and adve'ctlon (1) <asq o sifas+ /

(2) Latent heat of condensatlon (2) TEAT P [ S

(3) Expansion and. compression of a.ir (@) I P UER T GRS

(4) Partial absorption ofjsolar radiation by @) aREvSd BRI dR fEwor 7 S1ittTe
the atmosphere STIIEOT !

115. Heartland / Rimland Theory explains - 115. EEawewE/ Neve Rigra gwsmar & —

(1) Inter - province relgtionship 1) efeR — via Hay
(2) Centre - state relatlonshlp () TE — TN Hay
(3) Struggle between land and sea power () d 9 g% e @ 49 9uy
C)] Classificatipn of states @) T BT TTHI]

116. Which: of-the following masures of humidity 116. 3T 10 B Fre 3 ¥ Sl R a9
is NOT affected by change in pressure and T YA & geaE 9 g9lRg T8 SRl
temperature? T 27

(1) Relative humidity » = () < arear
(2) Vapour pressure (2) 9% <9

(3) Specific humidity (3) ffre aedr
(4) Absolute humidity i @ Pl ST

117. Wkt is the approximate ageof the Akal wood 117. IR Rerd el B Slidred] B g

fossils Tocated. in Jaisalmer? S Tt wFE TS 87
(1) 12 crore years = @D 12 o 9§
(2) 18 crore years (2) 18 TS T8
(3) 38 lakhyears (3 38 @™ ay
(4) 6 crore years @) 6 IS T§
118. Which of the following is not correctly 118. fr=ifeiRaa § & wlwar gafea €l &7
matched? )
(Wlountain Peak) (District) (wda fRrer) (fsrem)
(1) Bilali mountain *+ - Alwar (1) Rerhw@a —  8eR
(2) Barwara mountain - Ajmer (2) d_dIsT Tdq - TR
(3) Doramountain - Jalore 3) SN U - @R
(4) Nagpani mountain, - Udaipur @ =FFEETEd - SeAR

119. Mangroves are mainly found in - 119, M9 ygE WU § FEl U S 57

"(1) Aravalli range (1) SRwel e
(2) Gir forests 2) RS

(3) Lakshadweep islands (3) EIET 98
(4) Krishna delta @) T Seel

120. Identify the wrong pair (Shifting agriculture 120, Fr=fRaT # ¥ Told S (RIMFIRG P

and related country) from following - &1 M U9 FERT <9) P g59F Big —
(1) Thuming - India O FET - 9Ra
(2) Tamrai - Venezuela (2) TRE — YT
(3) Milpa - Mexico (3) e — AfisT
(4) Ladang - Indonesia @ < — MR
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Fr=faRad ¥ § SF¥T TRE RS Wy

121. Which one of the following, is a symptom of 121.
poor mental health? P TEA0T &7
(1) Optimist §h) mna]?ﬁ
(2) Socially adjustable )] mq@:rq; T W
(3) Tolerance 3) Wﬁ'@iﬁ
(4) Apprehensive @) st
122. According to Alfred Weber, what is the 122. Fhe 9§ & ATAR, ‘59 AR GABID B
formula for ‘Labour Cost Index’? T T 0 ‘
(1) Labour Cost Index = Total Weight of (D) 9 AN YEdie = Somed 9%
Finished Good/ Labour Cost BT FA AR/ 59 T
(2) Labour Cost Index = Labour Cost 2 =™ Eﬂﬂ?f GBS = 5 AR/
/Total Weight of Finished Good ST T B HA AR
(3) Labour Cost Index = Total Weight of (3) ST EPie = Sofad aR]
Finished Good/ Labour Cost x 100 BT {A IR/ A T X 100
(4) Labour Cost Index = Labour Cost (4) s AN GAGIE = S A/
/Total Weight of Finished Good x 100 ST 9% B Fa R x 100
123. Which of the following scholars are related to  123. fA=foRaa # 9§ o9 & fagrm Mg ENIER
the geocratic viewpoint in Human Geography? Y—ardl (Geocratic) RARERT & 'ﬁﬁ;‘%ﬁ 14
a. Humboldt a. BHEe A .
b. Ratzel b. i}EﬁF{
c. Ritter c. frex
d. Semple 4 <ITer
Select the correct answer using the code given Reffag o B STIMT oY TS SR
below — T — «
(1) aandb 1) aweIb
(2) bandd (2) bTard
(3) a,b,candd (3 ab,caurd ;
(4) a,bandd 4 abrd K
124. What is the correct sequence of the ‘Elements 124. TFH qE3 USRI e W S @ a6l
of Slope’ on an ideal hill slope from top to SR ¥ HR TE B9 4T B
bottom? (1) SRR — Jod TSl — 6
(1) Convexity - Free face - Rectilinearity YGHBAT — ATTSTT
- Concavity (2) EIAA — AT YA — HY
(2) Concavity - Free face - Rectilinearity - YeTHaT — BT'I?I"@T
Convexity ;
(3) Convexity - Free face - Concavity - ) — wﬂ;ﬂ;m ,
Rectilinearity (4) 3Iqdeldr — o Y&l — $STelal —
(4) Concavity - Free face - Convexity - N ' ‘
Rectilinearity Mtel Xl )
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125. According to Alfred Weber, what is the 125. Si@hs de8x © UK, UGR| @S B A
formula for ‘Material Index’? T 87 ’
(1) Material Index = Weight of Finished (1) U Yadie = IAfed qrd &I
Good/ Weight of Raw Material AR/ FE A BT AR
(2) Material Index = Weight of Raw
Material / Weight of Finished Good (2) UER FEHE = F Ad H 4R/
(3) Material. Index = Weight of Raw Idlfed Hiel &1 97
Material / Weight of Finished Good X (3) UEr UEsie = o] AT BT AR/
100 &
(4) Material Index = Weight of Raw W PR > 100
Material + Weight of Finished Good/ () o el = T A BT HR
100 + IATfed AT HT AR /100
126. The asthenosphere is a part of which layer of 126. gdedESd Yedi & b AaRe WA &I
Earth’s Interior - T fewar 87
(1) The crust 1) YOS
(2) The mantle 2 o
(3) The outer core () 9= B
(4) The inner core @) RS P
127. Which one of the following map projections 127. fr=ifeiRag =l uadi # & =T A
| does not show the equator? W1 BT UG T8 HIAT 87
| (1) Stereographic polar zenithal projection (1) PR gda @wea vd -
(2) Orthographic polar zenithal projection (2) THEHE gaT T T
(3) Gnomonic polar zenithal projection () o= gag Gg T
(4) Lambert equal area zenithal projection (@) oW I R e
\ 128. In the Population Policy 2000, by which year 128. &+ 2000 & Sraer i # b9 a¥ @&
i the aim has been set to bring stability in the TRG B G H R M @ deg
1 population of India? & T 87
(1) 2040 (1) 2040
(2) 2045 (2) 2045
(3) 2050 (3) 2050
4 2061 @ 2061
129. As per P. Sengupta and G. Sdasyuk’s 129. . J @l oAl Wl WEIF T 1968 B
“Economic Regionalisation of India” (1968), "R B e URRERE” & ER,
Kashmir valley and hills of Himachal Pradesh FIAR T 997 Bame =Y 9 BRI &7
are parts of - e T 87
(1) North Western Macro Region (D) SR ufFesll geq 3o
(2) Northern Macro Region @) 6 IEq ey
: ) (3) North Central Macro Region (3) SR W 95 o
i (4) Central Macro Region @ g5q o
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130. Match List-I with List-II and select the correct  130. -1 &1 THA-IL. 3 ﬁam a?rl%m o fﬁ?}
answer using code given below - i | B‘ClT-ﬁ"T ?FR ﬂ?.?r TR BT I
List-1 List-II L X ' SR
[Volcanic Cones] [MIustration]
(A) Cinder () Mt Izalco
(B) Composite (ii)) Mauna Loa
(C) Basic Lava (iii) Mit. Fuzyama
(D) AcidLava (iv) Stromboli o
Code - BRI
@A)y B © O @A ® € D),
® iv i i i @ v i iio.o 1
2) i iii ii iv 2 i iii i e
3 i i iv i 3) ii i iv, .7, Al
@ ii iv i ii @ i iv i
131. The author of the book ‘Environment, Raceand 131. ‘T9dRRAE, ¥ e HTsﬁ‘{H ER?IEE ® TGP
Migration’ is - g — o
(1) Griffith Taylor (1) e eox "
(2) Huntington (2) & Lo
(3) A.G. PI‘ice (3) 'Q-_ ﬁr g—ls—\,;r . B
(4) E.C.Semple @ $ 9 o
i32. Match List-1 (Period) with List2 132. -1 (99 arnﬁﬁ) ﬁ a\iﬁwz (Surm) |
(Approaches) and identify the correct answer gafera Bifsrg Td fag g ﬂﬁ' a?r Hetaar 9
from given code - GERSHME R LG Er?r%m =,
List-1 List-2 qa—1 -\T-j},,z
(Period) (Approaches) (7 3rf) = (SUTI)
@ 1930sthrough A. Spatial @) Eﬁﬁgﬂ'—ﬂ@’ @ {’x ?“’4”3‘?5 GiNER
the inter-war . 1930, TR
period organisation e L #,
(i) Late1950sto B. Post- @) 1950® I .
the late 1960s modernism i P @ © e ST [ﬂ'!?{- 6HdIq
T 1960 <> 5
Geography @ TIF R
(i) 1970s C. Areal afd o
differentiation (i) 1970 w1 RS ’ %’ﬁ'&ﬁﬁﬁ
(iv) 1990s D. Emergf:nc.:e of Gv) 1990 @7 -D HFEEIﬁTcﬂéT
humanistic, I[P oy m aily
radical and D mgm
behavioural . 3 ﬁ'ﬂl‘\'fiﬂﬂaﬁ o)
schools mk . :
M G)-C, (i)- A, (iii) - D, (iv) - B 1)y @-C, dGi)-A, ()= D (1v) B -
. .. . 2 @)-A,3)-C, (i) - D (1v) B .o
@ @-AG)-C, 3i)-D,({v)-B :
. - . 3) d-A.GD)-C, (111) B (1v) D
(3) (l) = A, (l].) - C’ (Ill) = B! (IV) -D (4) ( ) C D A B
@ ®-C, Gi)-D, (i) - A, iv)- B D-C. 0 -D. (- Aci)-B
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133.

134.

135.

136.

137.

Which one of the following statement is not 133.

correct about the Black/Regur soils in India?
(1) Regur soils are foufid in Maharashtra
and Gujarat. N
(2) Black Soil is also known as “Tropical
Chernozem.’
(3) Black soil is mature soil.
(4) Regur soil have low water retaining

capacity.

“The Hillslope Cycle’ theory was given by 134.

(1) A.N. Strahler

(2) W.Penck

(3) W.M. Davis

(4) L.C.King F
P. Sengupta and ‘G Sdasyuk has divided India 135,
into (a) ..oeewen. Macro and (b) .........Meso
Economic regions.

M @7 (b) 41

2 @7 (b) 48

3 @7 (b) 42

@ @38 (b) 57

According to Census of India 2011, what was  136.

the population growth rate recorded in Kerala?
1) 4.30%
2) 491%
3) 532%
(4 5.76%

Which' district from following is a leading 137.

producer of feldspar in the Rajasthan State
(according to July 2022)?

(1) Baran

(2) Jalore

(3) Ajmer

(4) Jodhpur

aRe # wRh/AR G B wEw A

Prefolag § @ PR FF 98 TE 87

V) TR/ES GEN BRI P ORI
# ol wRh €

@) PN YO SYGRTHR wwHGH B
A O W S RN B

(3) Bl g1 W G B

@ R yar # T gROT SR Pl &AA
PH B Bl

(1) T . EER

(2) ==Y 9P

(3 =g @ sfew

@) e . BT ‘s

o, S TR S Wﬁﬂwﬁﬁ(a)
............ TE AT (D) .. T SARAD HRTN

O @7 (b) 41

@ @7 (by48

@) (a7 (b) 42

@ @8 (b) 57
IRA ST 2011 & IFER, @Yl d
S iy o fha g6 #1 80

1)y 430%

2 491%

(3 532%

4) 5.76%

frafefad & 9 OTRIM YS9 & Bl
el Peaur Somga ¥ el & (gend

2022 & IFTEAR)?

() 9=

(2) TIER

(3) IR "y -
@ <R *
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138.
0
@
3
@

139.

Dinarics race is related to -

Australoid race
Mongoloid race
Negrito race

Caucasoid race

Educational Psychology is one of the many 139.

branches of psychology dealing mainly with -

(1)
¢
3

)

Where is the Great Barrier Reef located?

140.
)
)
3
@

141.

Problem of Education only

Process of Education only

Problem, process and product of
Education

Problem related to assessment only

Close to Greenland
Off Australian Coast
Central Arbian Sea
Off California Coast

Which of the following group advocated 141.

. ‘Possibilism’?

@
)

&)

@

142. In which physical region of Rajasthan is the

Lucian Febvre, Jean Brunhes, Sauer
Ellsworth Huntington, Vidal de la
Blache, Carl Ritter

Jean Brunhes, E. Huntington,
Chisholm

Carl Ritter, Herbertson, Bowran

Dang - Gangdhar highland area located?

ey
@
)
@

Banger region
Chhappan plains
South Hadoti region

Banas basin region

138.

140.

142.

e gafe e & wwafem 87

(1) Sifgdras gty o1

(2) TS Yo B

(3) =REr wenfr @1

@) eHTs gy BT

Rrear wifd=m=, S-S &Y eme el
39T R W T wU W aRtE § -

(1) o Rem o gaer 9

(2) @aa Rrm o s w0

@) Rrn o aawn, uihar g Sae 9

@) B AP | GG TAET |

e 3R % HEf Rer &7

(1) Trelvs & w9

(2) ST siiegforar

(3) PN IRT AR

@) ST HiemmiF

fFefaie 4 9 59 w9 3 9=qae &

TR DI?

(1) G o, S §99, IR

(2 veat gfdwreq, faga € o <,
Brel Rex

(3) ~iF g, ¥ 8fdwes, fEeie

(@) Pt Rex, ggcem, i

Ao ugw § Re &7
1) 9R U

(2) B9 BT ATE
(3) <fEor s &
@ T 9RF &=
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143. Which of the following is a focal area of 143.

Educational Psychology?
(1) Learning process
(2) Community
(3) Management

(4) Measurement

144, Which one of the following pairs is not 144.
correctly matched?
Mineral Mining Area
(1) Lead-Zinc - Mochia Magra
(2) Manganese - Leelwani
(3) Gold - Anandapur -
Bhukia
(4) Iron - Kolihan and
Mandhan

145. Which of the following models are related with  145.

Umland or zone of Urban influence?

A. Gravitational model of Carey

B. Breaking point concept of Converse

C. Retail gravitational model of Reilly
Select the correct answer from the code given
below -
Code -

(1) only A and B are correct

(2) only B and C are correct

(3) only A and C are correct

{4) A, B and C are correct

146. According to Thornthwaite’s. classification of 146,

climates, what is precipitation effectiveness
index for arid forest?

a) 32-63

2y 64-127

3) >128

@ <16

frafafeg 4§ 9 owar Brr w=iksT &1
DT 87 87
(1) ST uishar

(2) wHEE
(3) TdEET
@ A9
fafaRes § @ oFwr v g gafed T8
4
o ERuRAE]
(1) ST — AR
@2 #FHNS - deEr
(3 =T — YR - Yfbar
@) e ~ PR SR A
fefiifeg & @ e disa FEis A@
T T & 9 HEe 8P
A, N @& Tod gl
B. Buad & M fdvg Haedwr
C. X<il &1 e Tocd Haq

g ST &7 Td A Ry T oae 9
BT —

oe —

(1) DI A T B WE &

(2) PIa B WOl C WA T

(3) dad A e C Wl 8

4 ABTNCHEE

divfde & Woar] e & IR, I
g9 & fog aduy waifag gawis @ &7

1) 32-63
(2) 64-127
3) >128
4 <16
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147.  According to Piaget, expression only through 147. fiuw & aquR, Bad T9E Brael gRT

motor activities are observed is which stage?
(1) Sensory motor stage
(2) Concrete operational stage
(3) Pre operational stage
(4) Formal operational stage

AT fryg araeer ¥ o€ ST g@dr 87
1) sfsa e T g

(2 v dfharere araRen
(3) ud wiharTe aven
@ SiraRe d@ibarere s

148. Which region is not included in main regions 148. Fr=foRad § ¥ T &5 g o9
of commercial dairy farming from following? g;fﬁr @ S & | et 8 fmar s
(1) North Western Europe 1) SR IR EB’FZI
(2) Canada (2) @St
(3) Indonesia and Malaysia (3) SerRmEr vd weifimn
(4) South Eastern Australia, New Zealand @) <R @ sl ~efies w@
and Tasmania Tt
149. Which of the following is the Subordinate Law 149. fy=ifoiRaq & ¥ @ar of¥ems g
of Learning propounded by Thorndike? giearfe S @7 Aot e €7
(1) Law of multiple response (1) <=9 srftrar &7 frraw
(2) Law of effect (2) T9E BT aE
(3) Law of exercise (3) I BT RRE
(4) Law of readiness @) R BT S
150. Which is the group of districts with the highest 150. @ 2011 & W=IOFT § 0 — 6 &Ry & &
and lowest sex ratio in the age group 0 - 6 in the it g4 g feimgum A Rt
2011 census? N ﬂ'ﬁﬁ'ﬂT & N
1) a8t — H=iayR
(1) Banswara - Dholpur @) T — T
(2) Pratapgarh - Karauli )
(3) Udaipur - Sri Ganganagar @) W — AT
(4) Banswara - Jhunjhunu (4)  ArHATST — g,
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